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Rational Functions















To summarize:
𝐿𝑎𝑟𝑔𝑒𝑟 𝐷𝑒𝑔𝑟𝑒𝑒
𝑆𝑚𝑎𝑙𝑙𝑒𝑟 𝐷𝑒𝑔𝑟𝑒𝑒 :𝐻𝐴 𝑑𝑜𝑒𝑠 𝑛𝑜𝑡 𝑒𝑥𝑖𝑠𝑡

𝑆𝑚𝑎𝑙𝑙𝑒𝑟 𝐷𝑒𝑔𝑟𝑒𝑒
𝐿𝑎𝑟𝑔𝑒𝑟 𝐷𝑒𝑔𝑟𝑒𝑒 :𝐻𝐴 𝑖𝑠 𝑎𝑡 𝑦 ൌ 0

𝐸𝑞𝑢𝑎𝑙 𝐷𝑒𝑔𝑟𝑒𝑒
𝐸𝑞𝑢𝑎𝑙 𝐷𝑒𝑔𝑟𝑒𝑒 :𝐻𝐴 𝑒𝑥𝑖𝑠𝑡𝑠:𝑦 ൌ ሺ𝑞𝑢𝑜𝑡𝑖𝑒𝑛𝑡 𝑜𝑓 𝑙𝑒𝑎𝑑𝑖𝑛𝑔 𝑐𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡𝑠ሻ









Popper 20:
Answer the following for the function: 𝑓 𝑥 ൌ ଷ௫మିଶ଻

௫మି௫ି଺
1. Determine the location (if any) of vertical asymptotes.
a. x = 2 b. x = 3 c. x = ‐2 d. None

2. Determine the location (if any) of any holes.
a. x = ‐2 b. x = 3 c. x = ‐3 d. None

3. Determine the y‐coordinate of the hole.
a. 18/5 b. 3 c. 27/5 d. 3/2

4. Determine the location (if any) of horizontal asymptotes
a. y = 9/2 b. y = ½ c. y = 3 d. None




